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Q.1. In the food chain given below, grass provides 4000 J of energy to Grasshopper. How much energy 
will be available to Snakes from Frogs?
Plants 
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Ans. 40J of energy.
Q.2. The number of protons in the nucleus of an atom of an element of mass number 137 is 41. What will be 
the number of neutrons in its isotope of mass number 139? 
Ans. 98 neutrons.
Q.3. During heavy rains in a village, the rainwater carried excessive nitrogen compounds to a pond. How will it 
affect the growth of fish in the pond in the long run? 
Ans. The increased amount of nitrogen compound in the ponds promotes the growth of algae and other 
phytoplanktons. These algae deoxygenate water and as a result of decreased oxygen content in water, the fishes die.
Q.4. Why is the lowest part of the candle flame just next to the wick black? 
Ans. Due to the presence of unburnt vapours of wax present in it.
Q.5. An element X on reacting with oxygen forms an oxide X2O. This oxide dissolves in water and turns blue litmus red. State whether element X is a metal or a non-metal. 
Ans. Non-metal
Q.6. A doctor examined a patient and advised him to take more lemon, orange and amla in his diet. Write any 
two symptoms that the doctor might have noticed in the patient . 
Ans. 1. Swelling of gums
2. Loosening of teeth.
Q.7. Fermentation of sugar solution with enzymes is being carried out in a vessel at 20°C - 30°C in the presence of air. Which organic compound will be produced in this process?
Ans. Ethanoic acid.
Q.8. What will be the effect of increase in the amount of carbon dioxide in the atmosphere on the average 
temperature of earth? 

Ans. Green house effect.
Q.9. A constellation having seven prominent stars is visible during the winter. Name the constellation. 
Ans. Orion
Q.10. The formulae of two organic acids X and Y are C10H21COOH and C19H39COOH. Which of them 
exists in liquid state at room temperature? 

Ans. C10H21COOH.
Q.11. Describe the process of making soap in the laboratory. 
Ans. When oils and fats are heated with a solution of sodium hydroxide, they break down to sodium salt of the
respective fatty acid (called soap) and glycerol. This process of making soap by the hydrolysis of fats and oils with alkalies is called saponification.
Q.12. What is the principle of working of solar heater? Write two major drawbacks of all solar heating devices. 
Ans. A solar cooker consists of an insulated metal box which is painted all black from inside. A plane mirror 
reflector is attached to the box. The food to be cooked is placed in containers which are also painted black from outside. The cooker is placed in the sunlight and the position of the reflector is adjusted in such a way that a strong beam of sunlight falls over the cooker top. These rays pass through the transparent glass sheet and are absorbed by the black box and the containers. The box and the containers absorb maximum amount of infra- red radiations from the sunlight falling on it. As a result the temperature inside the box rises to about 1000C and this heat cooks the food in the containers. 
The major drawback of all solar heating devices has been that their direction has to be adjusted after short 
intervals so that they keep on facing the sun.
Q.13. In textile mills a white substance having a strong smell of chlorine is used to remove yellowness of
white clothes. Identify the substance. How is it prepared? Write chemical equation of the reaction involved. 
Ans. Bleaching powder. It is prepared by passing chlorine over dry slaked lime 
Ca(OH)2 + Cl2  CaOCl2 + H2O
Q.14. Why is coke considered a better fuel than coal? Give four reasons. 
Ans. Coke is better fuel because:
(i) It has higher calorific value.
(ii) It is compact fuel.
(iii) It doesn't produce poisonous gases.
(iv) It produces less smoke.
Q.15. A gardener by mistake has sown seeds of sunflower too deep in a wet fertile soil. How will this practice influence the production of sunflower crop? Give two reasons for your answer. 
Ans. If the seeds are sown too deep, they do not get sufficient oxygen for respiration and hence fail to germinate.
Q.16. List four conditions for life to exist on a planet. 
Ans. Conditions necessary for life to exist on a planet.
(1) Presence of building blocks like carbon, Hydrogen, N, O, etc.
(2) Suitable temperature
(3) Some liquid medium such as H2O.
(4) Protective blanket. 

Q.17. How is an ester prepared in the laboratory? Write its one use in daily life. 
Ans. Esters are prepared by the reaction of an alcohol and a carboxylic acid in the presence of concentrated sulphuric acid 
                                          H2SO4
    CH3COOH + C2H5OH   [image: image3]  CH3COOC2H5 + H2O 
    Ethanoic     Ethanol                                 Methyl ethanoate 
    Acids                                                            (An ester) 
It is used for artificial flavouring.
Q.18. Waste of which of the following two materials is more polluting - polythene or paper? Give reasons for your answer. 
Ans. Waste of polythene is more polluting:
1. It is non-biodegradable.
2. If eaten or swallowed by animals, it is very harmful.
Q.19. Galaxies A and B are x light years apart while C and D are 1.5x light years apart. In which pair will the 
two galaxies be moving faster away from each other? Give reasons for your answer. 
Ans. C and D are moving faster away from each other, because Edwin Hubble's law proves and states that 
all galaxies are fast moving away from each other and their speed is directly proportional to the distance between them.
